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QUESTION 1

Which of the following statements about the Service Package is incorrect? 

A. You can configure service package in two modes. One is to configure boards in batches, and the other is to configure
each board. 

B. Service package enables one-click configuration of typical services by issuing multiple configuration commands in
batches, facilitating product deployment commissioning and reducing maintenance costs. 

C. The Service Package can configure the working mode, service type, cross-connection, and port type in batches. 

D. Currently, Service Package is available to the TOA, TOX and TSC boards. 

Correct Answer: D 

 

QUESTION 2

The OD system monitors the main optical path performance in each optical multiplexing section (OMS), which of the
following items are monitored? 

A. whether the line loss exceeds the design end of life (EOL) value 

B. whether a fiber cut occurs on the main optical path. 

C. whether the optical power of the transmit-end OA board is out of the permitted range. 

D. whether the line loss compensation is out of the permitted range. 

Correct Answer: A 

 

QUESTION 3

Which of the following is approximately equal to 100mw? 

A. 13dBm 

B. 20dBm 

C. 15dBm 

D. 10dBm 

Correct Answer: B 

 

QUESTION 4

Which of the following statements about MPLS is wrong? 
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A. MPLS has two planes: control plane and forwarding plane. The control plane is connection-oriented, the forwarding
plane is connectionless. 

B. MPLS is not a service or application. It is a standard routing and switching platform that supports various upper-layer
protocols and services. 

C. In the packet transport field, the MPLS technology is mainly used to construct tunnels to carry various types of
services (for example, TDM, ATM, and Ethernet) transmitted by PWE3 to implement end-toend transmission of services
on packet networks. 

D. MPLS packet forwarding is based on labels. 

Correct Answer: A 

 

QUESTION 5

Which of the following Optical NE types are defined in U2000? 

A. WDM_OEQ 

B. WDM_OTM 

C. WDM_OLA 

D. WDM_OADM 

Correct Answer: A 
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